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[�\+]�^�_�`baBcYdVe�fgf�hji�^kiDlm_Dn�n�h)o�pqcYo�f�r�f�r�c�s
t i�u

d(12) v φ(12) v σ(12) vt n�u
d(2004) v φ(2004) v σ(2004)

\
w�\yxzr�{�{�|�h

φ(9) v φ(133) v φ(540) v φ(7!) }
~�\�������xzhKlB|�r�{

n
o�pqcYo�f�r�f�pVr:hK��i�^ vD��� ��| φ(n) � _Dp�i#cYlKi�{ }t o�d+`bhKlK|�r�{

n � r�f�pYr�lKr�dV^ d(n) � _Dp�i#cVlmiD{ } u
� \y�+^���e�lBr�p ��� o�lKr φ ��� ������o�{�|�cVe�lKiD�q� � {�dY_D��iDhBc � r�l � i�dV^ �{�_DlK�#i v

t i�u n�hK^ � {�|�aBcYdVe�f n�r v���� ��| 11 | n11 + 10n vt n�ughK��i�^ � l ��e�f vD��� ��| � i n {�r�` � dq^�c � iDcV��[#� � cVr�l v i�f �f � p n8+1
�#iD��|

n8−1
n�hK^Lc � dVi�{ � dV^Lc � i#cV�k[#� � cVr�l vt�� u�dV^�_�`baBcYdVe�f f�h

108182 hKlBl�\ 517 `�iDp�i��&o�f!_Dc�[�� � � r�l
� dq^�cV�#i vt ��ugn�hK^ � {�|�aBcYdVe�f n�r v���� ��| 42 | n7 − n \

��\y�ThK^ � {�|�aBcYdVe�f n�r v���� ��|
t i�u

3914 − 1 � dV^Lc � i#cY� 5 � cYr�l vt n�u
333444 + 444333 � dq^�c � iDcV� 7 � cVr�l vt�� u
490 + 1 � dV^Lc � i#cV� 17 � cYr�l� 

¡�\y¢£hKdV^�_�`baBcYi�{��&�
(((43)43)43)43 ` � �&e�l � � ��\

�&\�¤�lK�!��e�f¥`¦r���iD^ki�lK_�n�n�h)f � {���pYe�r�{ � hm_Df#i#c�s
t i�u

4949 ≡ x (mod 15) vt n�u
380x ≡ 23 (mod 100)

\
§�\y¨�i#c�_Dp � ^�^�e�f�`¦r�� i�^£e&c � lKdV�

t i�u � _�p � `©��r���|�o�cydV^�_�`ª��r���|�oLc 403402 � {�r�f v
t n�ugf�oLc+dq^�_D`ª��r���|�o�c

293949 � {�r�f v
t�� u�dV^�_�`���r���|�oLc

765432

� {�r�f� 

��\�«Id ����� pqc � c�iDlKf � cV{�i�f � ryiD^+i�lK_�n�n�h � iDlK`�iD^ � {��&rL¬�{�hK_�l­c`¯®���r�lKrLcVr�f } ¨�i4hK��r�{ v i�f�f � p£��hB^�dq��_Dl ��e�fz`¦r�� v°��� ��|i � d ����� pqcyf � `¦`¯e&c�i#cYaB� � r }
t i�u�±�r���o�dq^£dV^�_D` � f v�² dVdV^�r�i���_�dL³ vt n�u�± � _Dp�i#cYlKi�{¥dq^�_D` � f v&² dVdV^�r�i���_�dL³ vt�� u�± � _Dp � dIdq^�_D` � f v�² dYdV^�r�i���_�d�³ vt ��u�±

2× 2 � r�dI`�_#cYpVhB´ � f v `�_#cVpYhB´&dV^ � pV^�_�d�³ vt r�u�±
n � r��&hBf�f � ` � lKrL´¥r���|&dVo�����| ² f ² f v dV^ � pV^�_�d�³ v

[�µ�\
a2 = 1 ∀a ∈ G � pYr =⇒ G ¶ ��n�r�l � � d ����� pVc�\

[�[�\:·Qp���e�f � r�lbiD^�i�lK_�n�n�h � d ����� pqc � f¸«Ii!|�lKr�| � cY_Dn�lK_�^�i#c�_#c� xzr�lK|�r�f hB^ � ` � p � iDf�r���|�`�_�dYdVi�l }
t i�u�±�` � � � `¦i�pYi��&o�f � dV^Lc�_DlK| � f v�² dYdq^�r�i���_�d�³t n�u�±�` � ��§bpVr��&e�f#_DlBcy`¦i�pYi��&o�f � dV^Lc�_DlK| � f v dq^ � pY^�_�d�³t�� u��¹cVo���lmiDlmi � dq^�hB`¦`¦rLcYpVhmi � d ����� pqc��qi�st dq^�hB`¦`¦rLcYpVhmi � d ����� pqc»º¼i½p�i#��^ � c ² {�`�i���_Dn�i��hK��¾¯r���|�n�r��#_D����dY_D��h�cVp�iD{�dV^ ��� pV`�_ � hK��f � iDlK`�iD^�iibf � ` ��� ^�a � hK��p�i v `bhK{�c+`¯®���r�lKrLcYpVr£{�o�^���r�  u

g

h

f

t ��u4�À¿ ��� lBr�dy{�o���|�^�r�c�Á£dV^�hK`¦`¦rLcVpYhmi � d ����� pVc��qi�s


